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Note

A9 :

ECONOMICS
PAPER - II
: This paper contains FIFTY (50) multiple-choice/assertion/reasoning

212911
Yyy-II

questions/matching questions. Each question carries TWO (2) marks.

Attempt All the questions.

L MU wARL (W0) olglaselly usdl, WA-wig A ASsL oirllaaidl uaedl

8. MM WAL Aol davaldl §. UAs WAl A () oL 8.

Which statement is correct ?

(A) Inferior goods and Giffen goods

are the same
(B) Giffen goods are necessarily

‘inferior goods

(C) Giffen goods may not be inferior

goods
(D) Inferior goods are necessarily
Giffen goods

Indifference curve of two perfect

substitutes would be :

(A) Downward slopping straight
line

(B) Rectangular hyperbola curve

(C) Kinking at 90 degree

(D) None of the above
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Average variable cost of a firm is
Rs. 60 while it is producing 600
units, while its total ﬁxed cost is
Rs. 3,000. Find out i.ts average
cost ?

(A) Rs. 39,000

(B) Rs. 3,600

(C) Rs. 10

(D) Rs. 65

Cobb-Douglas production function

has elasticity of substitution :
(A) Equal to 1

(B) Constant

(C) Indefinite magnitude

(D) Indeterminate

Average fixed cost :

(A) Increases with quantity and is
more than marginal cost
(B) Decreases with quantity and is

more than marginal cost

(C) Increases with quantity and is

less than marginal cost

(D) Decreases with quantity and is

less than marginal cost
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Optimum level of output for a

perfectly competitive firm is given,

when : |

(A) MR equals AC

(B) MR equals MC

(C) MR exceeds MC by the greatest

amount

(D) MR equals MC and MC is
rising

The short-run equilibrium level of

output for a monopolistic competitor

1s given by :

(A) P = SMC

(B) P = SAC

(C) The MR curve intersects the
SMC curve

(D) The MR curve intersects the
SMC curve from below and

P > AVC
Instruments for credit control are :
(A) Bank rate
(B) Open market operations
(C) Margin requirements

(D) All of the above
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10.

In the IS-LM model, supply of

money is assumed as :

(A) Increasing function of the rate

of interest
(B) Function of level of income

(C) Decreasing function of the rate

of interest

(D) Exogeneously given

~According to Friedman with the

increase in money supply :

(A) We get higher interest rate if
the sum of income and '.price
effect is greater than liquidity

effect

" (B) We always get lower interest

rate

(C) We get lower interest if

liquidity effect is weak

(D) None of the above
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11. The main distinguishing feature = 11.

between money market and capital

market is based on the :

(A) Cost of credit
(B) Terms of credit
(C) Use of credit
(D) User of credit
12. The money multiplier :

(A) Varies directly with high
powered money currency and

reserve ratio

(B) Varies directly with high
powered money and inversely
with currency ratio and reserve
ratio

(C) Varies inversely with high
powered money and directly
with currency ratio and reserve
ratio

(D) Varies directly with high
powered money and reserve -
ratio and independent of

currency ratio
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13.

14.

The  crowding out hypothesis was
used by monetarists to show that :
(A) a pure expansionary fiscal
policy action is unable to
increase real GNP of an
economy on a permanent level
(B) a pure expansionary fiscal
policy always results into
increase in real GNP

(C) The contradictory fiscal policy

results into the movement of

the economy from stage of

prosperity to stage of recession

(D) None of the above

In an econdmy, the MPC = 0.90 and”

the MPI (Marginal Propensity to
Import) is 0.10. If there is an
autonomous increase in investment

of 200, the level of import will :
(A) Increase by 100 :
(B) Increase by 200
(C) Decrease by 100

(D) Decrease by 200
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15.

16.

17.

The choice of technique in the
theories of development and growth
refers to the decision regarding :
(A) Capital intensive Vs. labour

intensive technique

(B) Economies of scale Vs.

economies of scope of technique

(C) Increasing returns Vs.

decreasing returns in technique
(D) Appropriate Vs. sustainable
technique

The cost of development increases

due to :

(A) Increase in foreign aid

(B) Increase in debt-creating flows
(C) Decrease in.foreign aid

(D) Increase in import-export ratio

In a model of sustainable

development which is true ?

(A) Decline in stock of natural
capital is a normal
phenomenon of the process of

development

(B) Inter-generational equity usage
benefits be maintained during
the economic development

(C) Natural capital stock should
not be consumed

(D) Social capital decreases because

of technical progress
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18. Group I has ‘terms’ and Group II
has ‘implied meaning’. Match I and
IT correctly and choose the correct

option from the codes given

below it :
Group 1 Group II
(i) Sustainability (1) less poverty and
deprivation
(ii) Development (2) less environmen-
tal destruction
(zii) Inclusion (3) less diéparities
within and be-
tween nations
(iv) Equity (4) less marginali-
sation of people
in the country
Codes :
@ @ G ()
@a @ @ @ @
B 2 1O @
@ & @ QO
O 3 W Q1 @

19. Who of the following was the

proponent of the theme that
‘institutions’ play important role in
the economic development ?

(A) Douglas North

(B) Robert Solow

(C) P. C. Mahalanobis

(D) Rosenstein-Rodan
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20. Which of the following five year

21.

plans aimed/aims at ‘faster and

more inclusive growth’ ?
(A) 9th Five Year Plan
(B) 10th Five Year Plan
(C) 11th Five Year Plan
(D) 12th Five Year Plan

‘Brain Drain’ in development

economics implies ..........ceeeeee .

(A) Concentration of technological
innovations in the developed

countries

(B) Polarization of best of

educational institutions in the

developed world

(C) High out flow of migration from

the less developed countries
(D) International migration of
highly educated and skilled

workers from poor to rich

countries
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22.

23.

In view of Eric Lindahl, it 1is

possible- to distribute tax burden

among different people :

(A) According to their ability to pay
tax and benefit received from
social goods provided by the

state

(B) According to ability to pay tax

(C) According to cost of service
principle

(D) According to benefit received
from expenditure by the
government

Primary deficit is :

(A) Budget deficit plus other
liabilities

(B) Fiscal deficit minus interest
payments

(C) Revenue deficit minus total
expenditure

(D) Private revenue minus private

expenditure
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24. According to Colin Clark :

(A)

(B)

(D)

When the share of Government
sector exceeds 25% of total
economic activities, inflation

occurs even in balanced budget

Share of Government sector in
total economic activities has no
impact on price level

Share of Government sector in
total economic activities always
positively affects price level
Only selected government
activities with balanced budget

will affect price level

Taxable capacity is measured by :

(A)

(B)

(C)

(D)

Growth In tax revenue

Ratio between tax revenue and
GDP

Ratio between direct tax and
indirect tax

Ratio between revenue deficit

and fiscal deficit
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26.

27.

28.

Which of the following is not a

characteristic of a public good ?
(A) Indivisibility
(B) Pricing by the market

(C) Access to all

" (D) Non-exclusion in consumption

Which of the following is not the

function of fiscal policy ?
(A) Allocation 6f resources
(B) Distribution of fesources
(C) Stabilization of economy

(D) Allocation of credit to priority

sector

Which of the taxes go to Central

divisible pool ?

(A) Custom duty and income tax

(B) Central excise duty and service
tax

(C) Central excise duty and income

tax

(D) Central excise duty and

agricultural income tax
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29.

30.

If country ‘A’ is efficient in
producing one product and country
‘B’ is efficient in producing the
second product, then country ‘A’ will
specialize in the production of 1st

product and country ‘B’ in the 2nd

product. Which theory of

international trade is this ?

(A) Theory of absolute cost
advantage

Theory of comparative cost

(B)

advantage
(C) Heckscher-Ohlin model
(D) Imitation gap theory

Current account deficit for a

country indicates that :

(A) Gross domestic investment is

greater than gross domestic
savings '
(B) Gross domestic savings are
greater than gross domestic
investment
(C) Increase in capital inflows is
"~ more than outflows
(D) Outflow of foreign direct
investment is greater than

inflow

Economics—I1

15

29, AUl 2UA-Bl, WS drgrll Geuled U

30.

sifan 8 A su—ot, ofle dxg-l
Gowled Hi2 sl 8, AU U,
wYH axgdHl Gouledui (Alandlsre
5 UL su-o6l ol®y dqg-l
Geuteddi  [afuveszwr 524l
A LRl sul Rigid 2L

Rafd yxAad ?

(A) MUa W aledl Rgid

B) wla WA daleil Rgid

(C) Ssar—visdl Riaid

D) dse—ouou-l Rgid

parl A vl vueg euld © 5

(A) AN5eR 8212y YOl AsEL, AseR
90012y olAdl sl AR ¢

(B) 563 4212y oA, Q:“{Saz

8012y HSL RS Sl AU &

(©) HSlHl widaH Halsul adl
aall vl dedl of@adq datsHl

qell $dl A4 ©
D) Ala Qell Helisteedl eil€armn,
Yadle, d dril idIAHA Hals

53dl 91 ©

[(P.T.O.]




31. Devaluation of a domestic currency

32.

will improve the balance of

payments of a country, if the value

of marginal propensity to absorb,

(A) Greater than one

(B) Less than oné

(C) Equal to zero

(D) Infinity

The impact of tariff under partial

equilibrium approach on the welfare

of the society is :
(A) Negative

(B) Positive

(C) Not predictable

(D) Cyeclical
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33. Net Barter Terms of Trade is defined

as .

Export Price Index

(&) x 100

Import Price Index
Import Price Index

— - x 100
Export Price Index

(B)

(C) Export Price Index — Import
Price Index
(D) Export Price Index x Import

Price Index

34. The possible economic .policy

implications of feedback foreign
trade multpilier of exports and

investment is :

(A) The export promotion policies
would lead to lower rates of
national income increase

(B) Investment expansion

programme would lead to

higher rates of increase in

national income

(C) (A) + (B)

(D) Import substitution policies
would improve production and

national income of the country
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B) sl Asa wianl adl qls
Alzy vas—qle el qall

gold €
(C) (A) A (B) ol

(D) 1Uld—d D5 SIREN

2UMB2Y Gewle vin whlasHl YR

a9l

[P.T.O.]




35.

36.

37.

The quantum of intra-regional trade
among the countries of the world is
explained by :

(A) Heckscher-Ohlin theory

(B) Comparative cost theory |

(C) Both (A) and (B)

(D) Theories based on imperfect
competition |

The largest source of National

Income in Indié 15 ¥

(A) Service sector

(B) Agriculture sector

(C) Industrial sector

(D) Trade sector

For which type of fertilizer India is

fully dependent on imports ?
(A) Nitrogen fertilizer

(B) Phosphatic fertilizer

(C) Potash fertilizer

(D) Sulfate fertilizer
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35.

36.

37.

[Q2cil BaliMi Ul 2 MBS vl
se (Al sul Rigid gl aHadl

Ay 69 7

A) da—vledl Rigid
B) A& A Rigid
(C) (A) A (B) tin

@) 2yl sRs1S 2walRd Rgidl

gLl

MLRAHL AUAB2Y BllAsL Wl Hlell

Y

Y2l g2s syl ?
(A) Adl &
(B) Widl &

(C) Belldl &A

(D) IR &

YL USLAL AUR(LS vLd Hle *1d

Ayelud 2uad Gur MellRd & ?

(A AU sdamn?

(B) 51235 sdlalumn
(€) el silalumn

D) Aes sdlaum




38.

39.

40.

Which is the first export processing
zone declared as free trade zone in
India ?

(A) Santacruz

(B) Kandla

(C) Pipavav

(D) Noida

Which state has a lower literacy

rate than country’s literacy rate

according to 2011 census ?
(A) Maharashtra

(B) Gujarat

(C) Odisha

(D) West Bengal

Revenue deficit as percentage of
fiscal deficit in the year 2011-12 for

union budget stood at :
(A) 75.5%
(B) 79.7%
(C) 62.0%

(D) 50.0%
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38.

39.

40.

AAmigl sul dauida wiAA
M’ GHLdMl dAuum ‘gl 25 e’
(5 2w &a1) dy [AsAuaaHl

vl ?

(A) Aldlgn
(B) ssdll
©) Yala
(D) -idst

099 -l AU AR AlAAidl
SUL ABUAL WAL £, BAUAL ALARAL

£ 5dl vl & 7

.(A) HslRUN

(B) y%Ud
(©) %ﬁélm
(D) wBau sioyn

af 2092—43 ~iL 3l sFeul Haydl

wile, sl vieHl Sedl 25t edl ?
(A) OU. 4%
(B) 9¢.9%
(C) $R.0%

(D) 40.0%

[P.T.O.]




41.

42.

43.

Which index number is used to 41.

measure inflation in India ?

(A) GDP deflator

(B) Consumer price index

(C) Wholesale price index

for

(D) Cost of living index

industrial workers

Which sector
contribute maximum to gross

domestic savings in India ?
(A) Public sector

(]é;) Private corporate sector
(C) Public sector undertakings

(D) Household sector

Values of the variable which divide 43

the array of data into four equal

parts are known as :
(A) Averages

(B) Deciles

(C) Quartiles

(D) Percentiles
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continues to 42,

AL [BRUML adA © q

GLRAHL $olAL HIUAL Ml 54Ul YAS

sl Guylol Wy ¢ ?

(A) sl slsdz

(B) 2Al8s JAS iis

(C) w2uel8 lals

(D) »ileilPs  siMelxl M+l
wa-[Rale s

LM BL5eR U212 oA £y 8l

Alell aen? deld $3 6 7

(A) 83 &

(B) w2l Gellol &t

C(C) MR &l 2ilelPls AsH)

(D) $igM6Ls &t

242004l 2 Bua 3 % wRdlA AR

(A) d20
(B) sasl
(C) ugdsi

(D) 2s51a1z




44. Which one of the following 44. <{l2A™idl sut S~<ald aalisdi-l

45.

measures of central tendency is not

based on all the values ?
(A) Arithmetic mean

(B) Median

(C) Harmonic mean

(D) Geometric mean

A speaks truth in 60% of the cases
and B speaks truth in 70% of the
cases. What is the percentage of the
cases in which they are likely to

contradict each other ?
(A) 65%
(B) 46%
(C) 30%

(D) 10%

Economies—I1

21

45.

Widrd, oetis Ayel HiRdl 2tailRd
elg el ?

(A) dulRdls weus
(B) &4

(C) dauel Hes

(D) AR HEUS

‘A 0% [BA2AML A1 old & 214
‘B’ 90% [BRA12ML A1 olld . oid

psoflotedl [Qiaedl wakyl seal

esl [l 2l ?
(A) $U%
(B) %5%
(C) 30%

(D) 10%

[P.T.O.]




- 47.

46. Pearsﬁn% coefficient of correlation
18 :
(A) Independent of change in

origin only

(B) Independent of change in scale

only

(C)

Independent of change in

origin and change in scale
(D) Not independent of change in
origin or change in scale

Suppose the regression line is

Y = 1000 - 0.75X and X increases

by 100 units. Then :
(A) Y increases by' 100 units
(B) Y increlases by 0.75 units
(C) Y.increases by 75 units
(D) Y decreases by 75 units
48. Time reversal test is satisfied by :
(A) Laspeyre’s formula
~ (B) Paasche’s formula
(C) Fisher’é formﬁla
(D) Marshall-Edgeworth .formula
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UL AsAGLULS ¢

(A) GeaHBigel 33512Y ada §°

B) wHel () AL sl @dat

8

(C) Gealbig A MRl 3810

Wdal ©

(D) GE@LH[F&@ i, MR 33511

KA Al

g1l 3 [Rudiely 3wl Y = 1000 —

0.75X € 21 wul X «ll [(BHdHi 100

A sHAL QUL A 2d 6,

LR

(A) Y -l Budul 100 AsHiAL Q4R
Yl ¢9

(B) Y -l Budul 0.75 dAsHi-l a4l

oYY

(C) Y -l BHdui 75 Asu-l g4l
qlY £9

D) Y -l Budui 75 AsHi-L "a2Lst
Yy €

‘any [RQuafa wlae suidlwigdl

(AHidl sy waR 2 ?

(A) ARG, Yot
(B) wedd ot

(C) slard Yo

(D) Hdd—Axasld Yot




49.

50.

When the universe is hetero-
geneous, which of the following
methods of sampling will be more
appropriate ?

(A) Simple random sampling

(B) Stratified sampling

(C) Multi-stage sampling

(D) Systematic sampling

To compare the average family
incomes of households selected in

two small samples drawn from two

cities, one can use : .
(A) t-test

(B) F-test

- (C) Z-test

(D) A2-test

49. %UI AH[BerAl BUsHL [ANHAANL SiY,

50.

CclR duidl (e daqar w2

fla-midl 56 ugla yulou ¢ ?
(A) A0 yguy [Red ugla
B) w0y [Red ugla

(C) egdotssly Hed ugld

D) ules [Hed wgla

o gd il ude sMi wuddl ol
agRealqi e 23alL gdoli-dl A1

512[015 vlasl ad darl $9l 1R
(A) -ulaw
(B) F-yIlawl
(C) Z-uRlaw

(D) A2y lee-l Guyial 4s U
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